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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA  

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section ‗A‘ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. Discuss the growth of population in India and explain 

its impact on economic development.  

Hkkjr esa tula[;k o`f) dh ppkZ djrs gq, vkfFkZd fodkl 

ij blds izHkko dks crkb,A  

2. Critically examine the achievements and failures of 

Indian Planning.   

Hkkjrh; fu;kstu dh miyfC/k;ksa ,oa foQyrkvksa dk 

vkykspukRed ijh{k.k dhft,A  

3. Describe the main sources of Agricultrual Finance in 

India.  

Hkkjr esa d`f”k foŸk ds eq[; lzksrksa dk o.kZu dhft,A  

4. Examine the role of industrial policy in industrial 

development of India since 1956. 

1956 ls vc rd Hkkjr ds vkS|ksfxd fodkl eas vkS|ksfxd 

uhfr dh Hkwfedk dk ijh{k.k dhft,A  

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section ‗B‘ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA  

1. Multinational Corporations in India.  

Hkkjr eas cgqjk”Vªh; dEifu;k¡A 

2. Green Revolution in India.  

Hkkjr esa gfjr ØkfUrA  

3. Latest poverty estimates in India.  

Hkkjr eas xjhch dk uohure vkdyuA  

4. Disguised unemployment.  

Nn~e@izPNUu@vn`’; csjkstxkjhA  

5. World Trade Organisation.  

fo’o O;kikj laxBuA  

6. Indian Monetary System.  

Hkkjrh; ekSfnzd iz.kkyhA  

7. Finance Commission.  

foŸk vk;ksxA  

8. Importance of small scale industry.  

y?kq {ks= m|ksx dk egRoA  

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section ‗C‘ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 
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uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the right answer : 

lgh mŸkj dk p;u dhft, % 

1. In India farm credit is regulated by :  

(a) SBI 

(b) RBI 

(c) NABARD 

(d) Union Government  

Hkkjr esa QkeZ foŸk fu;fer gksrk gS % 

¼v½ ,l- ch- vkbZ- }kjk 

¼c½ vkj- ch- vkbZ- }kjk 

¼l½ ukckMZ }kjk 

¼n½ dsUnz ljdkj }kjk 

2. The term of 11th Five Year Plan was :  

(a) 2007–2012 

(b) 2005–2010 

(c) 2008–2013 

(d) 2012–2017 

X;kjgoha iapo”khZ; ;kstuk dk dk;Zdky Fkk % 

¼v½ 2007&2012 

¼c½ 2005&2010 

¼l½ 2008&2013 

¼n½ 2012&2017 
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3. Which of the following is not a direct tax ?  

(a) Wealth Tax 

(b) Income Tax 

(c) Estate Tax 

(d) Sales Tax 

fuEufyf[kr esa ls dkSu izR;{k dj ugha gS \ 

¼v½ /kudj 

¼c½ vk;dj  

¼l½ lEifŸk ‘kqYd  

¼n½ fcØh dj 

4. SIDBI (Small Industries Development Bank of India) 

was established in :  

(a) 1990 

(b) 1989 

(c) 1971 

(d) 1995 

flMch ¼Hkkjrh; y?kq m|e fodkl cSad½ dh LFkkiuk dc gqbZ  

Fkh \ 

¼v½ 1990 

¼c½ 1989 

¼l½ 1971 

¼n½ 1995 
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5. SAARC‘s head office is situated in :  

(a) Delhi  

(b) Manila  

(c) Kathmandu  

(d) Colombo  

lkdZ dk eq[;ky; fLFkr gS % 

¼v½ fnYyh esa 

¼c½ euhyk esa 

¼l½ dkBekaMw esa 

¼n½ dksyEcks esa 

6. ‗Inclusive growth‖ objective was introduced in :  

(a) Eleventh Five Year Plan 

(b) Seventh Five Year Plan 

(c) Eighth Five Year Plan 

(d) Tenth Five Year Plan 

^lekos’kh fodkl* mn~ns’; izLrkfor gqvk Fkk % 

¼v½ X;kjgoha iapo”khZ; ;kstuk esa 

¼c½ lkroha iapo”khZ; ;kstuk esa 

¼l½ vkBoha iapo”khZ; ;kstuk esa 

¼n½ nloha iapo”khZ; ;kstuk esa 

7. Sex ratio in 2011 census is :  

(a) 939 

(b) 936 

(c) 922 

(d) 940 
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2011 tux.kuk esa fyax vuqikr gS % 

¼v½ 939 

¼c½ 936 

¼l½ 922 

¼n½ 940 

8. Ginni coefficient measures :  

(a) Relative poverty  

(b) Absolute poverty 

(c) Unemployment  

(d) Human development  

fxuh xq.kkad ekirk gS % 

¼v½ lkis{k xjhch  

¼c½ fujis{k xjhch  

¼l½ csjkstxkjh  

¼n½ ekuo fodkl  

9. Price at which government is ready to buy whole 

produce of farmer is :  

(a) Issue price  

(b) Procurement price 

(c) Minimum support price 

(d) Market price 

ftl ewY; ij ljdkj fdlku dk iwjk vukt Ø; djus dks 

rS;kj gks % 

¼v½ fudklh ewY; 
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¼c½ olwyh ewY; 

¼l½ U;wure lefFkZr ewY;  

¼n½ cktkj ewY; 

10. In India which type of chemical fertilizer is used 

maximum ? 

(a) Potassium  

(b) All equal  

(c) Phosphoric  

(d) Nitrogenic  

Hkkjr eas fdl izdkj ds jklk;fud moZjd dh [kir lokZf/kd 

gS \ 

¼v½ iksVSf’k;e  

¼c½ lHkh leku 

¼l½ QkWLQksfjd  

¼n½ ukbVªkstfud  
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